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e Please check that this question paper contains 11 printed pages.

e Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 31 questions.

e Please write down the Serial Number of the question before
attempting it.

¢ 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.

Hhferd gl - II
SUMMATIVE ASSESSMENT - II
T
MATHEMATICS
1EtRa a7 - 3 go2 STgHTT 37% : 90

Time allowed : 3 hours Maximum Marks : 90

Nurturing Success of Every Child https://deekshalearning.com



oDeeksha

QI 3397

G) @Yt yeT AT &
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(iii) @US 37 § Uh-Uk 37h qIci 4 97 & | @S F H 6 ¥97 3 I578 & I35 2 37
FHTE | @ETH 10 J97 dI1-A17 3% & § | @Us ¢ 7 11 97 & 1579 @ 39+
4375 FT 5/

(iv) TP F JIIT BT SFHA TFE |

General Instructions :

(i) All questions are compulsory.

(it)  The question paper consists of 31 questions divided into four sections —A,
B, C and D.

(iti) Section A contains 4 questions of 1 mark each. Section B contains
6 questions of 2 marks each, Section C contains 10 questions of 3 marks

each and Section D contains 11 questions of 4 marks each.

(iv)  Use of calculators is not permitted.

Qs A
SECTION A

Y97 GEIT] B4 TF I39F 971 376 1 & |

Question numbers 1 to 4 carry 1 mark each.

1. U qAI 41, SEH a,, —a, = 84 B, I €6 3 FA1 8 ?

What is the common difference of an A.P. in which 89 — a7 = 84 ?
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afe w 9 fog P A a fisen qon O g et 9 W Eish 78 o Tovl-dwnstt %
= T I 60° &1, A1 OP sl o«Ts JTd <hifoTT |

If the angle between two tangents drawn from an external point P to a
circle of radius a and centre O, is 60°, then find the length of OP.

3.  dfg 30 . St v HAR, Y| W 103 M. et ST A 7, q1 G I IFHH
I AT B 2

If a tower 30 m high, casts a shadow 10/3 m long on the ground, then

what is the angle of elevation of the sun ?

4. 900 &SI % TH & H H AGooA Uh §9 g9 W FSl g3 &9 fshord 6
TIRERAT 0-18 8 | & T U U Hall hl H&A &1 @ ?

The probability of selecting a rotten apple randomly from a heap of
900 apples is 0-18. What is the number of rotten apples in the heap ?

Qus d
SECTION B

T GEIT5 G 10 TF 9% J97 & 2 37F &8 |

Question numbers 5 to 10 carry 2 marks each.

5.  p 1 98 AH F1q hitwre & foru fgama geftentsr px? — 14x + 8 = 0 1 T T
TR HT 6TAT R |

Find the value of p, for which one root of the quadratic equation
px? — 14x + 8 = 0 is 6 times the other.

6. = 20, 19%, 18%, 17%, ... ST SHIF-HT 9 JUH KUTcHS IS & ?

Which term of the progression 20, 19%, 18% , 17%, ... 1s the first negative

term ?
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firg I fop g0 1 forelt Shan = ofa fogerl w @it 8 wosi@d sfer &
1Y FHM IV S B

Prove that the tangents drawn at the end points of a chord of a circle
make equal angles with the chord.

8.  UH g fohdll Tg¥sl ABCD ! @t I qureti ol ¥osf o & | fag shifse fh
AB + CD = BC + DA

A circle touches all the four sides of a quadrilateral ABCD. Prove that
AB + CD =BC + DA

9. TS W@ y-3 AT x-3& Hl HAM: g3 P qo1 Q W Wld=sg wdl 7 | A
(2, - 5), PQ %1 wear-fag &1, 41 P A« Q % Feeh [ ity |

A line intersects the y-axis and x-axis at the points P and Q respectively.
If (2, — 5) is the mid-point of PQ, then find the coordinates of P and Q.

10. 3AE P(x, y) 1 A, 1) a1 B(-1, 5) ¥ gial &AM &, q1 fag i s

3x = 2y.
If the distances of P(x, y) from A(5, 1) and B(- 1, 5) are equal, then prove
that 3x = 2y.
wis v
SECTION C

97 G&IT 11 @ 20 7% JAF Jo7 & 3 7% & |
Question numbers 11 to 20 carry 3 marks each.

11. I ad = be 2, a1 fag HifSu T geo
(a2 + b2 x? + 2 (ac + bd) x + (c% + d%) = 0 I HIs ARATIH A T2 @ |
If ad # bc, then prove that the equation

(a2 + b2) x2 + 2 (ac+bd) x + (c2 + dz) = 0 has no real roots.

12. U GO I 1 YW Ug 5, Afa0 Ug 45 G 389k Afi UG 1 AT 400 B |
Y AT I o Uel hl TEAT 997 |1 A [T ShIfT |
The first term of an A.P. is 5, the last term is 45 and the sum of all its

terms is 400. Find the number of terms and the common difference of the
AP.
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13. TH HHR o 9g & o arelt d@iefl 3@ W 91g ° HA: 4 " qe1 16 #. A
ol w A fig Ca D fem E | A ¢ DA HA & e % s B
TH-GH o T &, d1 TR H a7 Hf |
On a straight line passing through the foot of a tower, two points C and D
are at distances of 4 m and 16 m from the foot respectively. If the angles

of elevation from C and D of the top of the tower are complementary, then
find the height of the tower.

14. U I H 15 The AT 5 HIeil 7ie 3 | I I H & Th HIeht g Feprerd i
bl s Hibz die Febiert £ wiadl £ dig R A dt A i el i 6
&I {1 AT |
A bag contains 15 white and some black balls. If the probability of

drawing a black ball from the bag is thrice that of drawing a white ball,
find the number of black balls in the bag.

15. fag (%, yj, fagatl P(2, -2) 91 Q(3, 7) & WAH a1 {@rae i fohd

aquTd | fawrfoa et 8 2 y 1 9 ot 9ra i |

In what ratio does the point (%, y) divide the line segment joining the

points P(2, — 2) and Q(3, 7) ? Also find the value of y.

16. @ TS AR H, TAH 3 TH AW & I €, 4-5 T ™ H ThH I A
4-5 Gt BT 1 T Y QT & | BHRThd W 1 &% 1A Y |

<—3@1ﬁ—>®’<—3©ﬁ—>
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Three semicircles each of diameter 3 cm, a circle of diameter 4-5 cm and a
semicircle of radius 45 cm are drawn in the given figure. Find the area of
the shaded region.

<— 3 cm 3 cm 3 cm —

17. @ 7K A W, O g I I Tehgd gl <l Breamd 21 Tt qem 42 A 7
Ife ~ AOB = 60° 8, I BHIhd W sl &% A T |

[n=%9€ﬁﬂzﬁﬁm]

AN
/

/TT \\

O

O
C @ D
\\ /
A\_/]/g
In the given figure, two concentric circles with centre O have radii 21 cm

and 42 cm. If Z AOB = 60°, find the area of the shaded region.
22
[Usen= —]
7

AN
/

/11 \\
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18. 54 7. =<l 3 1-8 Wi, T&d U e § i 25 ferei/auer i i ¥ ww wi R |
38 40 T 4 fopad &war <1 faamE &1 Tt 7, Ife ff=me & fau 10 o+
gL gt <hY SATI9ehdT & 2

Water in a canal, 54 m wide and 1-8 m deep, is flowing with a speed of
25 km/hour. How much area can it irrigate in 40 minutes, if 10 cm of
standing water is required for irrigation ?

19. TH WF o (Sah i fedep a1 4 Tf) B T 8ok it R <6 w18 &t
3t 6 ot 2 | 39 feeleh T I TSI &he TG HINT |

The slant height of a frustum of a cone is 4 cm and the perimeters of its
circular ends are 18 cm and 6 cm. Find the curved surface area of the
frustum.

20. T 39 dig & =W i fodmd 4.4 i, x 2.6 #. x 1.0 #. & | 38 fumemes
30 It 3Tafer 5o 3T 5 Y AL &1 Th @WEdl SRR 9189 ST =1
2 | UT3Y <l ETE 1d I |

The dimensions of a solid iron cuboid are 44 m x 2:6 m x 1:0 m. It is

melted and recast into a hollow cylindrical pipe of 30 cm inner radius and
thickness 5 cm. Find the length of the pipe.

Qus §
SECTION D

J97 GEIT 21 G 31 TF I A9F G &4 F 8 |

Question numbers 21 to 31 carry 4 marks each.

21. x& fog 5t ST
1 + 3 = o , X#—1, —1, -4
x+1 hx+1 x+4 5
Solve for x :
1 + 3 = 5 , X#—1, —l, -4
x+1 bx+1 x+4 5
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22.

23.

24.

25.

T A T Y Th o hl 313 0 H W TR § | AG TH A b hl W |

TEL A ¥ 3 HUS I AT 7, Al YA A <o ol WA H Teoha 1 T T 2
1

Two taps running together can fill a tank in 313 hours. If one tap takes
3 hours more than the other to fill the tank, then how much time will
each tap take to fill the tank ?

Ife < THTR Al & YoM n 9Gi o ANTHA! I AW (7n + 1) : (4n + 27) &,
A 3Tk 99 UST =T IUTT T HIFT |

If the ratio of the sum of the first n terms of two A.Ps is (7Tn + 1) : (4n + 27),
then find the ratio of their 9" terms.

fag fse &6 a0 & foreh a1 fog @ 99 W Eh 7 &) wosd et 6 et
HAH Bl 8 |

Prove that the lengths of two tangents drawn from an external point to a
circle are equal.

& 8 sl H, XY @1 X'Y', O %y 91l g6 i & wHia Toelx@md § 9o uw
H TRIET AB, et w1 fog C 8, XY 1 A @1 X'Y' %1 B W wii<aq
w7 | fag Hifsm 75 2 AOB = 90°.

X P AY

& ] ] S
T T
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In the given figure, XY and X'Y’ are two parallel tangents to a circle with
centre O and another tangent AB with point of contact C, is intersecting

XY at A and X'Y' at B. Prove that £ AOB = 90°.
X P AY

]
g T

v

C
<« / >

X/ Q B YI

26. TH BIYS ABC i T hifsie {9t BC = 78, £ B = 45°, £ A = 105°
B | 99 T 7 B i w1 hife fSEehl qemd A ABC @t & a ySieTi i

3 .
< T R

4

Construct a triangle ABC with side BC = 7 ecm, £ B = 45°, Z/ A = 105°.
Then construct another triangle whose sides are % times the

corresponding sides of the A ABC.

27. T g9 el Jad § I 300 Hl. H SR WIE W 2 | 36 S99 W 3&d
T BT A § Th A4 & gl Rt T e fawdi femmedt # feu o fogait
o 3TGTHA hIVT SHAST: 45° AUT 60° 8 | Tt I AS1S T1d T |
[V3 = 1-732 F&T I |

An aeroplane is flying at a height of 300 m above the ground. Flying at

this height, the angles of depression from the aeroplane of two points on

both banks of a river in opposite directions are 45° and 60° respectively.
Find the width of the river. [Use /3 = 1-732]

28. 3R f9g Ak + 1, 2k), B(3k, 2k + 3) @ C(5k - 1, 5k) TR@ &, a1 k &1 74
F1a I |

If the points A(k + 1, 2k), B(3k, 2k + 3) and C(5k — 1, 5k) are collinear,
then find the value of k.
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29, < TIfSe UTEl Bl Uk A1 WhehT AT | TRk 1A <hifoTe fom WTeq dwmal vl

(i) TN EH B, IR

(i1) TUT%eT GH B |
Two different dice are thrown together. Find the probability that the

numbers obtained have

(1) even sum, and

(il)  even product.

30. @ TS MR #, ABCD T 1d & forgeht fawmd 21 8wt x 14 3+t € | BC &
TE HH T Toh AUgd @ial T 8 | A H SHIhd WHT 1 &%
AT F1d T |

A 21 gt B

14 gt

D C

In the given figure, ABCD is a rectangle of dimensions 21 cm x 14 cm. A
semicircle is drawn with BC as diameter. Find the area and the
perimeter of the shaded region in the figure.

A 21 cm B

14 cm
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31. Tt aui-Sat 9ugw a1 #, 22 1. x 20 H. K Tq ¥ INI-IA qEHL 2 Y. IMYUR

o SITE qAT 3-5 Hl. STE o Ueh SR ¢oh H 1Al & | Il 3o W T &1,
Ta SHIfE fop Tft 1 ForcHT ol 83 | 917 &0 W T foR =3ek shiiY |

In a rain-water harvesting system, the rain-water from a roof of
22 m x 20 m drains into a cylindrical tank having diameter of base 2 m

and height 3-5 m. If the tank is full, find the rainfall in em. Write your
views on water conservation.
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